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~ ~ A witness with perfect eyesight who viewed a suspect from a distance of
200 m in daylight, claims that he was wearing a striped jumper, with the
stripes being around 4 cm wide. Is this statement scientifically reasonable?
At what distance would that claim be acceptable?

-~ Amido black is a dye used to visualize fingerprints left in blood. A
water-based solution of amido black uses 0.10 M citric acid. How many
grams of citric acid are required to prepare 500.0 mL of solution, given
the formula of citric acid is CgHgO,?

~ Police suspect a person has been repeatedly poisoned with arsenic and
have taken samples of the victim’s hair. The hair sample was cut into
1.0cm lengths, as shown below, and analyzed for arsenic. The first, fifth,
and eighth samples tested positive for arsenic. Based on the fact that
hair grows at a rate of 0.5 mm per day, determine the time intervals for
which the victim was exposed to arsenic.

1~ A burglar gains access to an upstairs window by using a ladder. If the

height of the window is 4.3 m above the ground and the impression
marks from the ladder are found 1.2 m out from the wall, calculate the
length of the ladder and the angle it makes to the ground.
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-+ ~In the case of a fatal drunk driving accident, the alcohol consumed
throughout the evening can be determined by sampling the vitreous
humor. However, moments before the fatal crash, the deceased
consumed an extremely large portion of alcohol. Will this be reflected
In the vitreous humor or not?
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